)y 2
BARIS

REPLACEMENT PARTS FOR VELVET & CARPET LOOMS ’

1982

KATALOG
2019

W w . b arisyedekparca.com



WE PROVIDE

www.barisyedekparca.com

REPLACEMENT
PARTS FOR

since VELVET&CARPET

1982 LOOMS




About Us

Baris Spare Parts has been established in 1982 by

Mr. Tahsin Baris who worked for many years as

a machine engineer in a well known velvet factory in Istanbul.
Thanks to the arrival of daughter Ms. Reyhan Baris in 1994
the company became a family business.

Our local production started with spare parts compatible
with velvet looms. With the addition of spare parts for carpet
looms we continued to expand in the Turkish market.

Currently our production spans replacement parts for
velvet and carpet weaving looms and various custom
manufactured parts for special requirements.

Since 2005 we are exporting our goods to USA, Europe
Middle East, Africa and Far East and succeeded to build
an international client base.

We are proud to be one of the unique companies in

the business that is manufacturing it’s main product range.
Our goal as a company is to produce and offer OEM quality
products and services at an affordable price. We see our
clients as our business partners and always work

to achieve the highest possible customer satisfaction.



VAN.700 VAN.700-2

5 Y e ©
(6,5x4,5x1,9) (4,5x2,5x2)
VAN.707-2 VAN.715 VAN.708 VAN.704 VAN.705

VAN.701

J (7x5x1.90 mm) (5x3x2.18 mm)

VAN.703 VAN.716 VAN.712 VAN.713

(INSERTION) AECEIVING)

VAN.740 VAN.741

VAN.738 VAN.739 VAN.739-B

e

VAN.718 VAN.719 VAN.720 VAN.721 VAN.725



VAN.O014 VAN.109
e // "
VAN.096 VAN.018 VAN.002 VAN.101 VAN.018 VAN.002

& D 2 > e

(5x3x2 mm)

VAN.097 VAN.037 VAN.098 VAN.054

& D o » e

(5x3x2 mm)

VAN.097 VAN.037 VAN.098 VAN.054

VAN.057

VAN.100

&

VAN.096 VAN.059 VAN.002

VAN.101 VAN.102 VAN.002

® © » e

(5x3x2 mm)

VAN.097 VAN.037 VAN.098 VAN.054

W > »

VAN.097 VAN.037 VAN.098
- R

(5x3x2 mm) ' leiie o]

VAN.054 VAN.107 VAN.107B




VAN.104 VAN.144

(WITH PIN) (THREE GROOVES)
VAN.114 VAN.103 VAN.002 VAN.145 VAN.145C VAN.002

- o » © @ | » ©

(5x3x2 mm) (5x3x2 mm)

VAN.097 VAN.037 VAN.098 VAN.054 VAN.097 VAN.037 VAN.098 VAN.054

VAN.013 VAN.105
VAN.094 VAN.017 VAN.001 VAN.106 VAN.017 VAN.001

© O » @||l & ©O » @

(5x3x2.2 mm) (7x5x2 mm) (5x3x2.2 mm) (7x5x2 mm)

VAN.044 VAN.047 VAN.095 VAN.052 VAN.044 VAN.047 VAN.095 VAN.052

VAN.023 / VAN.046 VAN.045




ANSERTION) AECEIVING)
VAN.055 VAN.056

VAN.033 VAN.033C VAN.032 VAN.032C VAN.032D VAN.038 VAN.043

ANSERTION) ’(RECEIVING)

VAN.073 VAN.074
i1 1 & ¥ &
VAN.201A VAN.201B VAN.203L VAN.203R VAN.204
DRIVE GEAR WHEEL 247

VW00200
VAN.006 VAN.006C (STEEL)

VAN.016 VAN.016S VWO00200L
(STEEL) (LARGE GEAR HUB)
(STEEL)



o @ 09

VAN.191 VAN.192 VAN.305

VAN.148 VAN.146

VAN.150A VAN.150B

VAN.099
VAN.065 VAN.187
(40x24x13 mm) (@4x24x13 mm)
VAN.188 VAN.189



Pile Fabric & Velvet Weaving

VAN.240A VAN.240B VAN.240C VAN.240D
VAN.241 VAN.242 VAN.243A

B

VAN.243B VAN.244

VAN.275 VAN.276

o

VAN.277




VAN.279"

VAN.278 VAN.278B

VAN.279-3 VAN.279-5

VAN.463A VAN.463B

&

VAN.465



CIM.014A CIM.014B CIM.018A CIM.018B
(3 mm) (5 mm)

CIM.018C CIM.018D CIM.027

CIM.005 CIM.005A

(120 mm) (129 mm)

/ (2x24-2 mm) (4x96-2mm)

CIM.015A CIM.008 CIM.009



i

VAN.118 VAN.130 VAN.162

VAN.160 VAN.164

VAN.199 VAN.255

22

VAN.464 VAN.466 VAN.495




Pile Fabric & Velvet Weaving

VAN i .

» B

VAN.289A VAN.289B

VAN.290 VAN.290A VAN.290AL

VAN.290B VAN.290BL VAN.290C

e dfe

VAN.290L VAN.292




Pile Fabric & Velvet Weaving

A W

Vo o

VAN.035 VAN.034
‘ VAN.020

VAN.021 VAN.022 VAN.019
VAN.136 VAN.137
VANR.034 VANV.034 VANV.039
VANV.040 VAN.049 VAN.049A

VAN.128 VAN.127




Pile Fabric & Velvet Weaving

/

VAN.123-2  VAN.124-2

VAN.123-2A VAN.124-2A VAN.152 VAN.153
VAN.064 VAN.112 VAN.113 VAN.125 VAN.129
© O

VAN.155 VAN.156 VAN.156M VAN.156C VAN.161L VAN.161R

VAN.619

e

VAN.618E

VAN.618D

VAN.618Z VAN.619Z




Pile Fabric & Velvet Weaving

VAN.621

VAN.620A VAN.620B VAN.620C
VAN.620D VAN.620E VAN.620F
VAN.620Z VAN.621A VAN.622
b
VAN.622A VAN.622G VAN.622S
I
(6x22x2 mm) (6x9x10 mm)
VAN.623A VAN.626D VAN.609




Pile Fabric & Velvet Weaving

VAN.420 VAN.423 VAN.421 VAN.422

VAN.626 VAN.626-2

‘ ?E
/ i w
i
VAN.626A VAN.626B VAN.626C VAN.626C-2
(6x9x5 mm)
VAN.626D VAN.610-2
VAN.178

. 4

VAN.164 VAN.179 VAN.180

VAN.627

FEUe 4 < o~

VAN.627A  VAN.627B  VAN.627C  VAN.627D VAN.185 VAN.182 VAN.181




VAN.183 ~ VAN.184

VAN.173 VAN.174

VAN.183A  VAN.183B VAN.184A  VAN.184B VAN.165 VAN.169 VAN.167
VAN.258 VAN.186  VAN.186B VAN.183V VAN.166 VAN.170 VAN.168

VAN.281C

P .

VAN.281 VAN.282

&

VAN.284

&

VAN.286C

VAN.285 VAN.286

$ 2 =" §

'VAN.287C

VAN.287 VAN.285B




VAN.424

- -

VAN.424A VAN.424B VAN.424C

VAN.175 VAN.175B VAN.176
VAN.629 VAN.327
i M6 L M6 M8 L i M8 R
VAN.084 VAN.085 VAN.194 VAN.133 VAN.134
M8 M8 M17 R M17 L
VAN.195 VAN.320 VAN.306 VAN.307

M20 R M20 M30 R M30 L

VAN.158 VAN.159 VAN.225 VAN.226



= —

(FOR M8 ROD JOINT) (M6 x 214 mm)
VAN.220 VAN.247
/ (M8 x 160 mm)
VAN.256 VAN.257 VAN.250
(M8 x 130 mm) (M8 x 91.5 mm) (M8 x 220 mm)
VAN.251 VAN.251B VAN.251C
(M6 x 135 mm) (M6 x 140 mm) (M8 x 288 mm)
VAN.252 VAN.252B VAN.387
(M6 x 300mm) (M6 x 300 mm) (M6 x 330 mm)
VAN.468 VAN.468B VAN.468C



Pile Fabric & Velvet Weaving

VAN.805 J

VAN.805C

» F §

VAN.060 VAN.061 VAN.062

*} 0
VAN.294 VAN.245$

@F o~ @ &

VAN.069 VAN.69B VAN.070 VAN.070P VAN.066
VAN.067 VAN.068 VAN.068C VAN.068Y VAN.076
VAN.122 VAN.026 VANR.805

L
b4
A

VAN.198 VAN.198N VAN.229 VAN.092 VAN.296
(82 mm) o (92 mm)

VAN.086 VAN.086B



Pile Fabric & Velvet Weaving

VAN.806C VAN.806

s
VAN.293 VAN.060 VAN.061 VAN.062 VAN.069 VAN.69B
VAN.070 VAN.O70P VAN.066 VAN.067 VAN.068 VAN.068C

VAN.068Y VAN.076 VAN.122 VAN.026 VANR.806

VAN.905C VAN.905

VANR.905




Pile Fabric & Velvet Weaving

L =

VAN.460 VAN.360A VAN.360B
VAN.460B VAN.361 VAN.461

VAN.390

>

VAN.383 VAN.383B VAN.384

VAN.385 VAN.386 VAN.360C VAN.389



Pile Fabric & Velvet Weaving

VAN.808C VAN.808
e
VAN.392 VAN.393 VAN.394 VAN.388 VANR.808-2
0 .
' ! !
VANR.808 VAN.402 VAN.416 VAN.215 VAN.253

o w

(14x12x9.8 mm) (13.95x10x1 mm) (12x10x9.8 mm)
VAN.254 VAN.396 VAN.395 VAN.397
il
f &)
’ , 6 LLR= J *

VAN.410A VAN.410B VAN.108 VAN.205 VAN.405 VAN.403

VAN.404 'VAN.413

AT = C

VAN.417 VAN.418 VAN.419




VAN.205 VAN.601S VAN.601V
W N
VAN.601Y VAN.604B
VAN.604G VAN.404 VAN.606 VAN.606-1
(9x6x10 mm)
VAN.108 VAN.606B VAN.606C VAN.609
(9x6x4.8 mm) (9x6x5.2 mm) (d6x20 mm) (10x11.5x10.5 mm) (14x12x9.8 mm)
VAN.610 VAN.610-1 VAN.607 VAN.610G VAN.396
m (= (= (=
(12x10x9.8 mm) (13.95x10.1x1.2 mm) (14x6x1.2 mm) (11.8x6x0.5 mm)
VAN.397 VAN.610D VAN.610E VAN.610F




2 oo F =

VAN.060 VAN.060AG VAN.061 VAN.061AG
&
VAN.062 VAN.060T VAN.063 VAN.063AG

VAN.064 VAN.064AG VAN.108 VAN.108AG

¥ O

VAN.180 VAN.185 VAN.182 VAN.181

VAN.420 VAN.421 VAN.422 VAN.423




Pile Fabric & Velvet Weaving

VAN.263

VAN.263B VAN.263C VAN.263G

VAN.262 VAN.209 VAN.209N

VAN.273 VAN.358 VAN.359A

VAN.359

VAN.264

VAN.269




(1930 mm)
(2050 mm)
(2700 mm)

VAN.235A

ALL TYPES OF WEAVING REEDS

VAN.236

VAN.229

VAN.265 - VAN.266

’

VANV.235

VAN.237

VAN.280

VAN.312

VAN.304

VAN.303

&
&

VAN.308

VAN.308B




Pile Fabric & Velvet Weaving

VAN.197

(M30 R) (M30 L)

VAN.225 VAN.225-A VAN.226-A VAN.226

VAN.012G

fl B
-

VAN.012B VAN.071

VAN.OM VAN.072 VAN.O071V VAN.012D VAN.O12E

VAN.028A VAN.O015A VAN.015 VAN.015C VAN.015R

UnmOESgd» ©

(23 mm)
VAN.028 VAN.028C VAN.028R VAN.028M VAN.RULON




VAN.151A

VAN.151B

VAN.151N2

(6x13,5x35) (6x35x40) (6x40x50)

VAN.003 VAN.004 VAN.005 VAN.071

VAN.072

&

VAN.O071V

APT.019




Pile Fabric & Velvet Weaving

p— Sn— ey
VW00212 VW00213 VW00213A VAN.710A
ﬁ - S L]
VW00213B VW00214B VW00214C VAN.710B VAN.710C
VANAZA VANA71R VAN.711 VAN.709A VAN.709B
VAN.172 VAN.172GR VAN.709D VAN.172R
(0.25 mm)
. (0.30 mm)
.02 (0.35 mm)
GUS.025 (0.45 mm)

(4 mm) (5 mm) (5 mm Greased)

GUS.023 GUS.024 GUS.250



Pile Fabric & Velvet Weaving

VAN.611 (210 mm)

VAN.612 (285 mm) VAN.041 (250 mm)

§ 5l VAN.613 (250 mm)

VAN.614 (310 mm) VAN.041B (250 mm)

(THICKNESS ON THE EDGES 8 mm)

VAN.614B (320 mm)

VAN.091G
(6007 Bearing)

VAN.091
(6005 Bearing)

VAN.120
(d =154 mm)

VAN.154
(d =138 mm)

VAN.272 VAN.271
(d25x206) V'(;(I‘)\lm:;m())2 VAN.121

O

VAN.217 VAN.219




VAN.500

v ¢ 8

VAN.500A VAN.500B VAN.500C VAN.500D VAN.500E VAN.500F

J.'_ir
VAN.500G VAN.500H/VANR.500 VAN.500M VAN.500K VAN.500L VAN.117

VAN.111 (120 mm) (400)
VAN.111B VAN.11INA

(600) (800) (1200)
VAN.11INB VAN.11INC VAN.11IND




= '_-__-

VAN.502 VAN.503

. (==

VAN.502A VAN.503D VAN.503E

Fl
Fll
F il

= AV White

VAN.503S GUS.026

VAN.213 (426 mm)

VAN.213-1 (457 mm)
VAN.213-2 (600 mm)

VAN.213

VAN.213T (426 mm)

VAN.213T-1 (457 mm)
VAN.213T-2 (600 mm)

VAN.213T

VAN.213B




Pile Fabric & Velvet Weaving

VAN.048 VAN.324

) @ (©]

VAN.323 VAN.324A

[{ @

VAN.325 VAN.326A

VAN.238 VAN.239




Pile Fabric & Velvet Weaving

(Double Bearing) (Double Bearing)
VAN.350N VAN.350 VAN.351N VAN.351
VAN.347 VAN.348 VAN.348A VAN.348B VAN.274 VAN.353 VAN.354

VAN.216C

NG

VAN.216 VAN.211 VAN.212

(M17 R/ M17 L)
VAN.306-307 VAN.352




EN-500
MAIN COUPLING SET

EN-501 EN-503
EN-600
MAIN COUPLING SET
EN-6017" EN-602 EN-603 EN-604
EN-700
SLOW MOTION SET

EN-505B VAN.297

VAN.280B - 02
VAN.280B - 05
VAN.280B - 10

APT.007



oo O

(65x115x5)

VAN.321 VANR.316
VAN.316A VAN.316V

VAN.331 VAN.314B

VAN.314N

-

VAN.298 VAN.299
VAN.298DC VANR.298-2 VAN.298M VAN.298K VAN.298Y
VAN.467A VAN.467C

VAN.317 VAN.083 VAN.083A VAN.083B




(From Z 17 to Z 56)

VAN.755
(CHANGE WHEEL)

Pile Fabric & Velvet Weaving

(d 35)
VAN.717

VAN.752 VAN.752N VAN.753

(Z 50)
(NODULAR CAST)

VAN.504

(Z 28)
VAN.504C

VAN.515
VAN.504A VAN.504B  VAN.504B-2

l VAN.504B-3

VAN.357

(Z 42) (Z34)
VAN.506 VAN.507



VAN.520 (z 50) VAN.521 VAN.523 (Z 63)

Z17) (Z18) (Z 16) (Z13-227)
VAN.407 VAN.406 VAN.406B VAN.408

(Z 52)

VAN.509 VAN.508

7 4gp & &

VAN.408A VAN.139 VAN.141 VAN.140

Z12-228)
VAN.412

(213 -2 33)
VAN.432




Pile Fabric & Velvet Weaving

VAN.433

(Z 24) (Z33)
VAN.409C VAN.409D

VAN.370
(d4, h:8 mm) (d4, h:6.5 mm) (6x4x2 mm) . I
VAN.367 VAN.368 VAN.369 VAN.371 VAN.372

——

VAN.376

»

VAN.375V

VAN.375




VAN.381

VAN.381A VAN.381B

(12x10x8 mm)

VAN.391 VAN.373 VAN.373A

VAN.042 VAN.042-2 VAN.042N
VAN.039 VAN.317 VAN.467B



VAN.024 (50 AT20 2420 / 121 TEETH)
VAN.025 (50 AT20 1900 / 95 TEETH)

VAN.027 (50 AT20 2460 / 123 TEETH)
VAN.050 (50 AT20 2360 / 118 TEETH)
VAN.051 (50 AT20 2700 / 135 TEETH)

VAN.469 (50 AT20 2520 / 126 TEETH)

VAN.470 (50 AT20 2400 /120 TEETH)

VAN.300 (22 T10 1140)
VAN.260 (25 T10 1140)
VAN.261 (25 T10 1150)
VAN.471 (25 T10 1450)

VAN.149 (75 T10 1960)

VAN.157

VAN.259 13100 14 MaGT)




Carpet Weaving

VW00050

g g |

= (5x3x2 mm)
—_— VWO00074 VWO00052 VAN.054 VAN.037

i g 3 g £ o g

VAN.097 VWO00055 VWO00060 VW00201 VW00202

(NO CARBIDE ON THE TI-P)" &
VWO00050E

(4140 STEEL)
VWO0O0050N

VWO00074E VWO00052E VWO00074N VWO00052N

VWO0Q173 (v SHAPE CARBIDE ON THE TIP) VWOOQ51E (NO CARBIDE ON THE TIP)

S ”

VWO00059E S g5 YWO0053E

VWO00174




Carpet Weaving

VWO00051
S J
VW00059 VW00053 VAN.044-47 VW00058

T o e S

VW00054 VWO00061 VW00063 VWO00071

4

-
VWO00059N ok VWO00053N

VWO00056 (2770 mm) VWO00057 (2770 mm)

VWOO0OO056A (2265 mm) VWO00057A (2265 mm)

VWO00056B (1940 mm) VWO00057B (1940 mm)
= & n O &
VWO00087 VWO00205L VWO00205R VAN.032 VAN.032C




VW00200 VWO00200L

(LARGE GEAR HUB)

e
e

VW00204

VW00068
‘,"f‘:‘
;‘ # e _:-_1:"2-& =
VW00075 VW00070
VW00076 VWO00069
© ° @b o
(6.5x4.5x1.9 mm) (4.5x2.5x2 mm) )
VAN.704 VAN 208 VAN.708 VAN.044-47
INSERTION .- ’ RECEIVING _..- ’

VWO00078 (2278 mm)
VWO0O0O078A (1950 mm)

VWO00079 (2278 mm)
VWO00079A (1950 mm)



Carpet Weaving

VW00090

VWO00085 VWO00091 VAN.044-47

> G i

VAN.052 VWO00055 VAN.097

(4140 STEEL)

(NO CARBIDE ON THE TIP) (V CARBIDE ON THE TIP)
VWO0090E VWOO0090N
o : e — el
e o © A
) VWO00085E VWO0O0091E VAN.044-47 VWO00085N VWO00091N

— N

(NO CARBIDE ON THE TIP)
VWO00092E

—— - / -

VWO00086 VWO00093 VAN.044-47 VWOO0086E VWO00093E




(INSERTION)

T VWO00095 (2265 mm)
(4140 STEEL) VW00095B (2770 mm)

VWO00092N VW00095C (3291 mm)
: ,jj
| '-'&*"_i.é“’:s,_

h f&vwooogm (RECEIVING)

VWO00094 (2265 mm)

VW00094B (2770 mm)

VW00094C (3291 mm)

e
VWO00096 VW00097

VW00189

VW00312 I’/

ﬁ

VW00296



VWO00211

. T o
VW00212 VWO00213 VWO00213A
VWO00213B VW00214B VW00214C

==

VAN.171 VAN.171R

VAN.172R

VAN.612 (285 mm)

VAN.613 (250 mm)

VAN.614 (810 mm)

VAN.614B (320 mm)



Carpet Weaving

VW00099
VAN.093 VAN.063 VAN.404
8/

VWO00150A VWO00150B VWO00150C
e  * e * |
VWO00150D VWO00150E VWO00150E2

e | ™
VWO00150F VW00150J VWO00150H

VWO00150K VW00150L VW00150M
VWO00150N VWO00150P VWO00150R
VW00150S VW00150T VW00150U



Carpet Weaving

VWO00216A VW00217S
VWO00218A VW00218B VWO00220A
VW00220B VW00219 VAN.172R

(0.25 mm)
(0.30 mm) ' o ; '
(0.45 mm)

GUS.025 VWO00080

(5 mm

) )
GUS.0250 GUS.023 GUS.024

(5 mm Greased) (4 mm



(120 mm) (400)
VAN.111 VAN.111B VAN 111NA

(600) (800) (1200)
VAN 111NB VAN 111NC VAN.11IND

VAN 502
VAN.502A VAN.503D VAN.503E
) g
- AV White
.J/
VAN.503S GUS.026




Carpet Weaving

MRTV.001

MRTV.001A

MRTV.001B

MRTV.002

MRTV.002A 4

«/‘"M

MRTV.002B




—S
MRTV.010 MRTV.011

MAS.001




=TT, —

JAC.023

¢ @1+ 9 © ©

JAC.024 JAC.025A JAC.025B JAC.025C JAC.025S
JAC.026 JAC.027

JAC.050 JAC.051 JAC.052 JAC.053
o . .
| —~ | )
JAC.054 JAC.055 JAC.056 JAC.057

JAC.058 JAC.059 JAC.060 JAC.061




Jacquard

(7,60x2x70) (d 12 boy: 310) (d 12 L: 310)
JAC.062 JAC.064 JAC.065 JAC.065L
(JACQUARD PAPERS)
(d 16 L: 250) (d 12 L: 250)
JAC.065LS JAC.065S JAC.007

JAC.066 JAC.067 JAC.068 JAC.069

JAC.072 JAC.105 JAC.093

JAC.085 JAC.086



JAC.049 JAC.063

<
JAC.094 JAC.095 JAC.096

JAC.100 JAC.320

BON.002 BON 003 BON.004

CER.001
CER.001B




Jacquard

FRM.001L FRM.001R FRM.003

DOR.002 (605 mm)
DOR.002A (555 mm) DOR.002C DOR.002D

DOR.002B (485 mm)

DBB.001 DBB.002 DBB.003
) /i 4
‘K —
FRM.010 FRM.011

HEALDROD
9x1,5mm
9x25mm

AVAILABLE IN
REQUIRED LENGTHS

GUC.005



Jacquard

S ol e b

KAN.001 KAN.002 KAN.003 KAN.004

L s

LAN.O10

LAN.009 LAN.009B LAN.009C

e
——

(17,7x1,5x1900) ALL TYPES OF LANCETS

LAN.O11

ALL TYPES OF WEAVING REEDS



ARM. 001 ze60)
ARM. 002 z 15)

ARM. 003




GUS.001

GUS.006 GUS.007

GUS.003 GUS.003C GUS.008

GUS.002

—

GUS.004 [FARER: Betbw) GUS.008




GUS.043 (20 x 28 x 235 mm)

GUS.044 (20 x 28 x 310 mm)

GUS.045 (20 x 28 x 360 mm)

GUIDES FOR CIRCULAR RAPIERS, BACK GUS.047 (20 x 28 x 480 mm)

GUS.036 (13 x 20 x 310 mm)

GUS.038 (20 x 20 x 235 mm)

GUS.039 (20 x 20 x 310 mm)

GUS.040 (20 x 20 x 360 mm)

GUIDES FOR CIRCULAR RAPIERS, FRONT

GUS.042 (20 x 20 x 480 mm)

GUS.054

cus.053 [ " GUS.055A

GUS.051
GUS.055B




GUS.059 GUS.060 GUS.065 ) GUS.65N GUS.062-3-4

GUS.061 GUS.061BA

(Gears from Z 28 to Z 90) (247 -T10) (Z 67)
GUS.098-117 GUS.159 GUS.239

GUS.120-132 GUS.132-139

(BELT 8M 896-920-960-1040-1120) (T10 980-1010-1080-1120-1150)

GUS.166 GUS.200

GUS.092




@ ~

GUS.071 GUS.075 GUS.076

GUS.145 GUSP.145
GUS.078 GUS.146 GUS.198
GUS.309
TWIST NEEDLE

GUS.091 GUS.092




GUS.196

GUS.197

GUS.213

GUS.018 GUS.019 GUS.019N

GUS.020 GUS.021 GUS.185

(4 mm) (5 mm) (Belt 60 T10 1320)

GUS 023 GUS 024 GUS.140




GUS.030

VAN.015 GUS.032B GUS.025

L =

GUS.188 GUS.189 GUS.303 GUS.026

e

GUS.093 GUS.096 GUS.097

\ o

GUS.214 GUS.259




& ¢

GUS.095 GUS.094 GUS.160
GUS.162 Gé.zss GUS.212

(Belt 75 T20 1880) (Belt 85 14M 1890)

GUS.087 GUS.252 GUS.143 GUS.144

GUS.195

GUSP.001 GUSP.033

/W " g

GUSP.012 GUSP.016 GUSP.044 GUSP.016




GUSP.015 GUSP.015C

4 GUSP.018 GUSP.020 L'

GUSP.013
GUSP.025 GUSP.024

GUSP.005 (20 x 28 x 235 mm)

E GUSP.006 (20 x 28 x 310 mm)

_ GUSP.007 (20 x 28 x 360 mm)

GUIDES FOR PROFILE RAPIERS GUSP.009 (20 x 28 x 480 mm)

GUSP.005K (20 x 28 x 235 mm)

_ GUSP.006K (20 x 28 x 310 mm)
—
GUSP.007K (20 x 28 x 360 mm)

GUIDES FOR PROFILE RAPIERS GUSP.009K (20 x 28 x 480 mm)

GUSP.029



GUSP.101

_

GUSP.100

.qudké".‘iﬁﬂﬁ

GUSP.100B

GUSP.125

GUSP.125A

R

GUSP.127

GUSP.128

GUSP.023

QW

GUS.145 GUSP.070

s

GUSP.023A GUSP.023A1

GUSP.049 GUSP.023B GUSP.023C GUSP.023D1

o0 P

VAN.122N  GUSP.023D2

GUSP.023E GUSP.023E3 GUSP.023F

i o oo & 8 g

GUSP.023G GUSP.023J GUSP.023L




GUSP.045

GUSP.046

GUSP.064 GUSP.J48

> | —

GUSP.063 GUSP.047 GUSP.050

= . 1l

GUSPC.003

GUSP.051 GUSP.052  GUSP.052B
GUSP.066 GUSP.067

= = i

GUSP.013 GUSPC.004 GUSP.018

= W@

GUSP.024 GUSPC.025

GUSPC.062

GUSPC.061




GUSPC.059C MGUSPC.OGOC

GUSPC.063 GUSPC.020 0

GUSPC.080R GUSPC.080L
GUSPC.079R GUSPC.082R Guéom GUSPC.079L GUSPC.082L GUSP&&

GUIDES FOR CARBON RAPIERS

GUSP.059N



(65 mm) (90 mm)
CIM.001 CIM.004

(2x24 / 1,40 mm) (4x96 / 1,40 mm)
CIM.022 CIM.006 CIM.007

CIM.016 CIM.002




GUN.047 GUN.048 GUN.017

GUN.002

GUN.O002N
GUN.023 GUSP.018 GUN.023N GUSP.018 GUN.046
’ / W ' 4o W ' 4.
GUN.046  GUN.OT GUN.017 GUN.014 GUN.017

GUN.014

(25-30-35 mm)

GUN.033

(EM 10)
GUN.045




GUN.053

GUNR.053 GUN.015

GUN.027 GUN.029

GUN.028 GUN.025 GUN.030

e =y -

GUN.009 GUN.034 GUN.026

(4 mm) (5 mm)

GUN.003 GUN.004 GUS.023 GUS.024




GUN.005 .

(5x12.5x35 mm) (5x30x45 mm) (5x35x45 mm)
GUN.006 GUN.007 GUN.008
GUN.061 GUN.056 l GUN.057
&
o
bl R ]

GUN.080 GUN.080A GUN.081 GUN.O81A ¢

GUN.032




GUN.036 GUN.037 GUN.039

GUN.054 GUN.055 GUN.058

GUNNE PZ-PZR

(Z 51) (Z 44) (Z 44 Steel)

GUK 003 GUK 015 GUK.015M

(Z 46)
GUK 017

(Z 45 Steel)
GUK.018

GUK.016

GUK.019




GUK.021 | GUK.020




(Z 25 to Z 42)

SACM. 001 SACM. 002 SACM. 003-020 SACM. 024

SACM. 028 SACM. 028-2 SACM. 054 SACM. 056

e

SACM. 052 SACM. 057 SACM. 053 SACM. 055

/

SACM. 053-2 SACM. 057-2 SACM. 043 SACM. 058




SACM. 029C

SACM. 038

=

SACM. 050 SACM. 051

s’

SACM. 060 SACM. 061 SACM. 040




BARIS

REPLACEMENT PARTS FOR VELVET & CARPET LOOMS ’

\W//

V 4T
DT
KOSGEB

www.kosgeb.gov.tr

24.09.2018 Tarihinde Ofisim Media

Baris Yedek Parca Tic. ve San. Ltd. Sti.
Adres: Metal Is Sanayi Sitesi 6. Blok No:26 ikitelli - Basaksehir 34490 / Istanbul / Turkey
Tel: +90 212 482 27 56 / +90 212 482 27 55 | Fax: 0090 212 482 27 72
Mail: info@barisyedekparca.com.tr | Web: www.barisyedekparca.com

Alp Batuah Sucu Tarafindan Basilmistir.

ofisimmedia.com



